= mii AR L .
bR AR RS - 1T =l binder

) M8 FLSK3E 2 E, 4R34 5, FT4RBHIE, THT, IP67, UL, M10X0.75, IRATEIE
i3 M8
Bs 86 6618 112100005
i SEEN EEB!

3 ns £ 8
= p13. ;tl i -
-g- pe = 'OEO B ﬂ‘ L —‘7
o ol 1695 = o =
S‘éu ANy N T SW 1Imm 195 =
-\ Y o S 12 2 =
\ ; 195 = 9,65
ﬂv"‘l! T

Thickness of P(B: 1,6 mm

BXZR 228k (SME2IUR)

1E7E T U HLA
AR
ITESY

®s
86 6618 1121 00005

TS Z&EF—H9: 09 3424 82 05

G“ us

HEA © 27.04.2024



= anisiEa L .
AE LA SR (RS - T =l binder

= M8 FLIKTE=E, 1R ¥K: 5, RIHEFR#, THT, IP67, UL, M10x0.75, #RAiEE
SEE M8
BS 866618 1121 00005

EAR | AT mHER S SHE SIS

tt
e AR LRIAEARNTE > FRBERBERARKNNEF > BRAARIMILE LS KR
EgaE A= RE
Type standard DIN EN 61076-2-104
Rz AP KBAIEES
EERUERE 1257
BE&ER THT
Dtz P67
TERE -40°C/85°C
IR RER > 100 HERREK
B2 (gr) 5.68
BRXHS 85369010
R=E DE
BESH
TMEBE 60V
BE L RBE 1500V
TE BT 3.0A
SRER 3
TEE5 I
MR Il
EMVERIE AR
Rk ERE RihR
it
ShFitRt [BRiEFE, 32
TR PAE®E
bt 55 (5hR)
FEfARmE Au (&)
REACH SVHC CAS 7439-92-1 (Lead)
SCIP=55 6eb0124d-ae73-4880-ae56-bb7533e37e65
/e
HEEF uL
eCl@ss 11.1 27-44-01-09
ETIM9.0 EC003569

Gﬂ us

HEA © 27.04.2024



= amini A

BohbiARiERS- 1T RES - RITES

) M8 LK, R4 5, TTHEREAE, THT, IP67, UL, M10x0.75, 4RATEIE
S M8
Bs 86 6618 112100005

LR

1st Installation proposal

With flats as anti-otation device

D A min B
max C

20d Installation proposal

With bore hole

_05x45°
N
N

min B

max C

3 Installation proposal

With thread o screw in

S

.. 05xd5e
\/<
A I thread E A B [C D
M8x1 81120(35( 71
14 MI0x0,75 [101] 2065 ] 91
M2x1 121125 (451100
A
N Tightening forque 1 Nm
min B
max C

binder

Gﬂ us

HEA © 27.04.2024



= anisiEa L .
LA SR RS - T =l binder

) M8 LK, R4 5, TTHEREAE, THT, IP67, UL, M10x0.75, 4RATEIE
SEE M8
Bs 86 6618 112100005

LZERT

Gﬂ us

HEA © 27.04.2024



